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OS+URREN3E OFAIXE AR &
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Z23| MetgEXE SEHEKE X 2,000 2,000
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2,000,000& *1A 2,000
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HEE A SIAIY 1,000,000& =14 1,000
MASE Mo X (ASISX /DI ZNE 2 H) 66,887,512 61,120,194 5,767,318
= 49,345,766
rag 1,558,485
J| 165,000
& 5,344,526
Al 10,473,735
MNASES J|IZME0HY 22| 56,419,646 50,707,544 5,712,102
= 48,790,196
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= 268,000
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= 1,080
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Al 84
307 2I2+01™ 1,200 16,056 A 14,856
= 1,080
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Al 84
11 Al =SXAMSEES 1,200 16,056 A 14,856
OougrIsSEAMY 1,200,000 *14] 1,200
= 1,080
= 36
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OFE HEANT ST Al
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= 7,200
& 560
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Hu: YASE MBOE XRA(MESX/IIZMELE)
ool HASES JIZMEOE 20 (cro: @ g)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
oME T}t 11~4591 0I5t Ald
250, 0003 *28 I A~ *23] 14,000
o MET} 46~602! OlGH AlA
350,000 *3I A *23| 2,100
o ME T} 6121 0|4 AIE
500,000 *4 I 2 *23| 4,000
ONAES MEEEH XA 50,000
oI FAR(M, F4)
50,0003 #5000t 71 %23 50,000
SETA & 22| 29,090 29,090
201 B2 AH| 26,890 26,890
02 3324l 26,890 26,890
o322z £ HAl 26,890
oSXUHAN SN RE2 2&(eelR
H OMS2XH U2 6,890,000 * 14 26,890
202 44| 2,200 2,200
01 =2LHO4 ] 2,200 2,200
OSXIHAR U2(=MX)
50,0003 x4 *113] 2,200
212 =X & 1,493,665 1,493,665 0
= 1,194,292
= 149,286
Al 150,087
201 L2 AH| 800 800
01 Al 22| 800 800
CHEEVINEE -
100,000 *4H x23| 800
301 LB F 1,492,865 1,492,865 0
= 1,194,292
& 149,286
Al 149,287
01 A BE A2 (R REETHA) 1,492,865 1,492,865 0
Ooz2aZ=X X3 1,492,865,000 3 * 14| 1,492,865
= 1,194,292
& 149,286
Al 149,287
g87s MEotEgadsE N 25,000 25,000
301 LPENSZ 25,000 25,000
02 MBI EZASHS(HAAS, KLTHA) 25,000 25,000
O2le+s MEHE=E
10,000,000 & * 14! 10,000
O stHadl s 15,000,000 * 14! 15,000
SeAd2e XJ(EX) 25,000 23,190 1,810
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D9 NASS JIZMEeE 2l (el Mg
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=S 2,250
Al 15,250
201 el 5,160 5,160 0
[ 2,580
= 774
Al 1,806
01 AtR2te|HI 5,160 5,160 0
Odgt==d| 5,160
oSEAtA2E Helf nNsEH (=)
192,000& x5 960
= 480
=S 144
Al 336
oSE A2 E2 % 39 2 3|
4,200,000 * 14 4,200
= 2,100
=S 630
Al 1,470
202 04| 10,000 8,190 1,810
01 =LHO LI 10,000 8,190 1,810
OSg A2l =0
200,000 x5 102 10,000
301 EtE NS 9,840 9,840 0
= 4,920
= 1,476
Al 3,444
01 A2 HSHS(RNEERTH) 9,840 9,840 0
OSEAtdll2el At XI2bl
492,000 x20H 9,840
= 4,920
= 1,476
Al 3,444
0Pt EHSXABIA 7,000 23,140 216,140
201 Let23 | 7,000 20,500 213,500
01 At2teltl 7,000 20,500 13,500
OH0Pte 2ASAIAMEIA QHHM MZ
6,000,000& *14] 6,000
OO0t EHSXNAMEIA 82, 28 S A
el 1,000,000 *14] 1,000
SHS X0ts SAAMEIA 275,692 324,855 249,163
101 @124H| 275,692 269,3% 6,297
M ORIMZZ2NSE S 275,692 269,395 6,297
O88s SXZCUI0E 275,692




SM: A= X2
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M MASES MEOHH XA (MSISX/IIZHESE)

B2l MASE J|IZM4EHE 2 (Cte M)

SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
ool
10,0302 #4A| 2+ x5 x27 H*345= 184,151
oxgay
10,0303 *4AI 2+ 1227 H+345= 36,831
oMEAUD BHLY
BOR 4| 26 27 H*345= 21,151
oUXteE 10,0302 «4A| 2H+27 S +7E 7,983
oMBIEER 25,976,000 * 14| 25,976
SHS XES SEAHIA 226,800 226,800 0
= 158,760
& 6,804
Al 61,236
201 =3 113,400 113,400 0
= 79,380
=S 3,402
Al 30,618
01 AF2221H| 113,400 113,400 0
OSHE 58 SeAtlA 2|
4,200,000 +27H 2= 113,400
= 79,380
=S 3,402
Al 30,618
301 22N = 113,400 113,400 0
= 79,380
=S 3,402
Al 30,618

(2DEZNE) 113,400 113,400 0

| =
o
Osts &8 SEAHlA X3

4,200,00021%27 74 & 113,400
= 79,380
= 3,402
Al 3,618
MNel2EES 22 2,840 3,120 2280
201 2| 1,740 1,800 A60
01 AL 22| 1,740 1,800 A60
OguragY| 1,740
CAFBEIO AFIIE L NAUS o
S M 400%1%2, 85021 1,140
o=TAHA 2Y 50,0002+ 1224 600
202 01| 1,100 1,320 £220
01 201 1,100 1,320 £220
OMBIZEIOl HOIZA DSEA L A4
=7 ot S 110, 00094 +2% 53] 1,100
S2USH HZA ZXDISH 2% 623,000 654,000 231,000




A ARSIt
Hu: YASE MBOE XRA(MESX/IIZMELE)
HRlD MASS JZdEory 2l (St &)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
& 186,900
Al 436,100
201 Ler2H| 31,150 32,700 A1,550
= 9,345
Al 21,805
01 AtR22elt| 31,150 32,700 21,550
OS2ISUIHRA 2XIISH 2|
31,150,000 & * 14! 31,150
& 9,345
Al 21,805
301 LPENF 591,850 621,300 A29,450
= 177,555
Al 414,295
02 MBI 2EAHS(HUAHS, NSTHA) 591,850 621,300 229,450
S2USUBMZA SIS A
591,850,000& » 14! 591,850
= 177,555
Al 414,295
LelsUl SIS 2% (BAIISAY) 165,000 165,000 0
| 165,000
301 LB NZ 165,000 165,000 0
| 165,000
01 A B&AH 2 (RREETA) 165,000 165,000 0
2sUl 2A0ISH 2 (=8HII2AID)
165,000,000 14 165,000
| 165,000
258 A0l XA 2,000 0 2,000
& 2,000
201 Ler2| 2,000 0 2,000
& 2,000
01 At 22|l 2,000 0 2,000
Oget=ZH| 2,000
o2EE AE0| NN SHHI(EEEE
HE 2 S) 2,000,000 14 2,000
& 2,000
D=SAE Ol & 2tel 15,000 0 15,000
= 7,500
& 4,500
Al 3,000
201 2| 5,000 0 5,000
= 2,500
& 1,500
Al 1,000
01 At 22|l 5,000 0 5,000




A ARSIt
Hu: YASE MBOE XRA(MESX/IIZMELE)
HRlD MASS JZdEory 2l (St &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Ogdet=gH| 5,000
SDEA Gl U Z2IAY 2H|(E2S
HE 2 S) 5,000,000 * 14 5,000
= 2,500
& 1,500
Al 1,000
307 212+01 A 10,000 0 10,000
= 5,000
& 3,000
Al 2,000
11 AMSISXAIEEXR 10,000 0 10,000
OLNS=MN FEZ XJAMDE(HFX BEH
b, SEFel, HAUI8 S)
10,000,000 14! 10,000
= 5,000
T 3,000
Al 2,000
NEAIE (KEL SRS X2 - 22]) 12,146 0 12,146
= 10,932
T 850
Al 364
301 LEBNF 12,146 0 12,146
= 10,932
& 850
Al 364
01 AISIBEH LGS (2 RETME) 12,146 0 12,146
ONZAR (RELBXAZ NS - 22)
12,146,000 3 * 14! 12,146
= 10,932
& 850
Al 364
NGAtel =X &= 23t 3,318,825 3,243,236 75,589
= 555,570
= 1,392,225
= 308,124
Al 1,062,906
KHet At (RHEHHIET) 793,666 834,070 A40,404
= 585,570
T 79,365
Al 158,731
307 2I2+01 ™ 793,666 834,070 A40,404
= 555,570
& 79,365
Al 158,731




2N

Hu: HASE MBOE N (AESX/IIZMEEE)
=Rl NFARISA 2s Hat (S &)
SA - B S9I(S) - MRAR - B e HIDE
10 Al SXAIEEE 22X 793,666 834,070 A\40,404
OXEXEHH 29 (214) 793,666
oM=K AXEHEH (0H)
414,168,0003 * 11 2 414,168
= 289,920
== 41,416
Al 82,832
oM H=AYX AR HE(OH)
379,498,000 » 100 A 379,498
= 265,650
& 37,949
Al 75,899
XA & 29 (X)) 4,500 4,500
307 elzto| & 4,500 4,500
10 Al SAAEEHE 22X 4,500 4,500
OFLUHLRIATIBHE ARA AOHE
4,500,000 * 10 2= 4,500
NSAX2dE 29(<Hl) 61,180 85,840 N\24,660
== 18,354
Al 42,826
307 212+01& 61,180 85,840 A\24,660
& 18,354
Al 42,826
10 Al2IS XA EEE 22X 61,180 85,840 A\24,660
OXNS e SAHL S8+
90,0002 x18F 122 19,440
= 5,832
Al 13,608
OXNSR2HE K2A2elAL X3
41,740,000 x14] 41,740
== 12,522
Al 29,218
O==Al At2I=SXIBt0tE A 15,000 15,000 0
307 elztol & 15,000 15,000
04 QIZFHAIAFE 2 2 15,000 15,000
OAt2l =S XIet0tg &AL X1
15,000,000& *13] 15,000
NSt ZE€AM 28 N 337,587 327,189 10,398
=S 9,488
Al 328,099
201 fet=3| 48,600 48,600
01 AtR2telbl 48,600 48,600
Oget=ZH] 6.750




2N:
X ZH -
(=T I

chel:

XA (MBS /I =MD E)
2

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
oWz NGAEHE AN AtS22(d]
250,000 271 2~ 6,750
Oo2g=< 41,850
oSPIS XAABIZTEOIN 310 &4 4
g 41,850,000 *14] 41,850
301 LB F 13,500 13,500
11 HAIAHIXI A2 13,500 13,500
OSH= NEA2 BEHEH oM SAHAHIXIRA
= 500,000 #2771 2~ 13,500
307 212+01 A 275,487 265,089 10,398
& 9,483
Al 265,999
02 QIZtAAAIEE R 92,000 92,000 0
Od=¢st Lsddn 249
10,000,000 14| 10,000
OXIGA EEEOM AR 235
12,000,000 14! 12,000
Owmet 5Yan &= X
70,000,000 * 14 70,000
03 QIZIEHHHE2GHIEX 183,487 173,089 10,398
OW==AIXNGAI EEE 2N 22|
136,048,000 * 14 136,048
OW==AIXNIGASI 2T E AN &dEelsE oA
a] 47,439,000 =10 2 47,439
= 9,488
Al 37,951
M=EXIEY 3 28 K& 40,000 40,000 0
& 8,000
Al 32,000
307 212+01 ™ 40,000 40,000 0
& 8,000
Al 32,000
03 IZIHXEHE2IHIE X 40,000 40,000 0
OW=AIAEI=SXE S 25|
40,000,000 * 10 2 40,000
= 8,000
Al 32,000
JIRAZS H3AY 28 X2 78,000 78,000 0
& 13,600
Al 64,400
307 212+01™ 78,000 78,000 0
& 13,600
Al 64,400
11 AL =SXAMSEES 78,000 78,000 0




2N

Hu: HASE MBOE N (AESX/IIZMEEE)
=l XA =X g5 23t (Cte M)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
OJIIRAZES HSAE 2F X3
78,000,000 14 78,000
= 13,600
Al 64,400
NARSE ABIMEIA EXALOIAF - 218 222 378,571 378,572 A
Atd)
= 265,000
= 34,071
Al 79,500
308 AHXIHM SO & 378,571 378,572 A
= 265,000
= 34,071
Al 79,500
13 SI |2 SHICHEHE A E L EFALH] 378,571 378,572 A
OJtAL - 248 &2 TIRIAS
378,571,000& x 14! 378,571
= 265,000
& 34,071
Al 79,500
KETESE ASIMHIA SEXANY 1,427,151 1,427,151 0
s 999,006
= 128,443
Al 299,702
201 B2 AY| 1,400 1,400 0
s 980
& 126
Al 294
01 At 22|l 1,400 1,400 0
Ogers2H| 1,400
o XIFAISIMHIA ETHAIY 29
1,400,000 * 14 1,400
s 980
= 126
Al 294
202 04d| 1,600 1,600 0
s 1,120
& 144
Al 336
01 =LHO4 b 1,600 1,600 0
OXIG A MEIA SEXAIY RFX
0,000& 2% *402] 1,600
s 1,120
& 144
Al 336




SA MBS

B2 HASE MBOIF NV (AMESX/IIZMERT)
chel: XSAlEI=X BE 23 (cre) =2l
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
308 AXISHMSOIN 1,424,151 1,424,151 0
iy 996,906
& 128,173
Al 299,072
13 3| 2SHICHeHE & XA I 1,424,151 1,424,151 0
OXIHABIMBIA EXAY
1,424,151, 000& * 14| 1,424,151
= 996,906
& 128,173
Al 299,072
NATES ASIAHIA SXAL(LASE MEIA A 151,429 0 151,429
)
ax 106,000
& 13,629
Al 31,800
308 AXISHMSOIA 151,429 0 151,429
= 106,000
& 13,629
Al 31,800
13 BI |2 SOICHEHE & XL EALH] 151,429 0 151,429
OLNEBHHIA A
151,429,000 * 14 151,429
= 106,000
& 13,629
Al 31,800
KHEAtell2te] X1 31,741 0 31,741
rax 22,219
& 3,174
Al 6,348
307 212+01 ™ 31,741 0 31,741
= 22,219
= 3,174
Al 6,348
10 AISISXAIEHE2ZHIER 31,741 0 31,741
ORXtEAtel2e] I
31,741,000 3 14 31,741
= 22,219
= 3,174
Al 6,348
MSXIANE 28 K& 7,149,041 7,169,414 220,373
& 1,044,348
Al 6,104,693
SeAtEI =X 28 XI# 2,863,750 2,781,287 82,463
T 20,196




S ARSI
M MASS dEtd NE(MASX/DIZHE2F)
=Rl AlRISAAE 29 X2 (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Al 2,843,554
201 er23| 27,000 28,600 21,600
02 35244l 27,000 27,000 0
OSEAt==N2 7A 2=
27,000,000 x14] 27,000
307 @120l & 2,836,750 2,752,687 84,063
=S 20,196
Al 2,816,5%4
05 elt?(& = 2,769,430 2,685,367 84,063
OAtZIE X2 2 (4HA) 2,769,430
oNSEEAtEIF X2
753,339,000 104 2 753,339
oActESE ARSI
647,067,000 * 100 £ 647,067
oZ2+SE AR S A2
758,919,000 * 101 £ 758,919
cllEEE A SX2
610,105,000 * 10 2~ 610,106
10 Al SAAEEHE2EHI 22X 67,320 67,320 0
OAt2IS A2 SAHLT SE+¢ 67,320
oNESEE AL F 2
1,530,000& «12& 18,360
& 5,508
Al 12,852
oActSEALS S 2
1,320,000& 122 15,840
= 4,752
Al 11,088
o2+ AR S A2
1,440,000« 128 17,280
& 5,184
Al 12,096
oD ESEAteI S X2
1,320,000& 122 15,840
= 4,752
Al 11,088
SEARI SN2 JIS2ZTAE 466,802 160,000 306,802
401 Al HIZ S OHHI 245,802 160,000 85,802
01 AlZ28| 244,033 168,920 85,113
ONEZEAEZEXZ JIsEZAE(XISE
) 245,802,000&99.28/100 244,033
03 Al 20HHI 1,769 1,080 689
ONSEEAEI=X 2 JIsELMS(XSE
%=)(0.72%) 1,769,000 14| 1,769
405 KHoHF S| 221,000 0 221,000




S ARSI
Hu: YASE MBOIE N (AESX/IIZMEEE)
=Rl AlRISAAE 29 X2 (Cte M)
SA - ZE - BR(8) - HRA - B ofl et e HImE2
01 TR =S FSHI 221,000 0 221,000
OAcHSEAIEIZX 2 JISsEZAE (HAR
o =) 221,000,000 »1CH 221,000
=0 EXAE 2E(&Hl) 18,720 18,720 0
= 5,616
Al 13,104
307 elzto| & 18,720 18,720 0
= 5,616
Al 13,104
10 Al SAAEEHE 22X 18,720 18,720 0
OL=0 SXAE EAL SEE2H(S2R) 18,720
INCIE=INVNINEEE=REYNDN,
120,000 x4 x 122 5,760
< 1,728
Al 4,032
odBAS LA
90,0003« 12« 12& 12,960
= 3,888
Al 9,072
C=0ISTAE 2S(HEAY) 1,018,536 884,946 133,590
< 1,018,536
307 el2to| & 1,018,536 884,946 133,590
= 1,018,536
10 Al2IS XA EEE 22X 1,018,536 884,946 133,590
Ok=0l SXAE 23HI(S2¥)
1,018,535, 9103 » 100 A 1,018,536
= 1,018,536
=00 A 25 3,000 3,000 0
307 elztol & 3,000 3,000
0122 & 3=l 3,000 3,000
Oglle] - ==0! F15H| K&
3,000,000 *14] 3,000
ANSISRHE K (HEAY) 2,398,073 2,398,073
301 EtE2 N = 2,398,073 2,398,073
0 MRS 2,398,073 2,398,073
OAMZIELHT X (HEAL) 2,398,073
OMNSRERA S5
2,208,689,000& x14] 2,208,689
oMe=R23 WS
158,400,000 *14] 158,400
oM=RLA LI=HI
30,984,000 * 14! 30,984
ANZELHME K& (KEA) 380, 160 380, 160 0
301 22N = 380, 160 380,160 0




SA: AEISKID
M HASE MEON X2 (ASISX/II=MEEE)
Bl AlRISXIAIE 29 X (Cte M)
A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
10 AR =RR|EH S 380, 160 380, 160 0
OMEI=2R8 SAH|
8,000 x180F »22 x 12& 380, 160
Lol oz - =5 SEAIAMI(AISSKI/AZI S X L8 1,105,000 1,085,000 20,000
= 552,000
& 166,000
Al 387,000
Lol oz - == SENIAME XA 1,105,000 1,085,000 20,000
= 552,000
= 166,000
Al 387,000
Lol oz - =5 SEHAIAME 29 1,105,000 1,085,000 20,000
= 552,000
= 166,000
Al 387,000
101 @124t 174,928 169,052 5,876
= 87,463
& 26,240
Al 61,225
M IIRIZ2Z2XSE+ 174,928 169,052 5,876
O 2XJHH & 22 A 21244| 174,928
ocQlfe 87,280 *4H 300 104,736
= 52,368
= 15,710
Al 36,658
oxFaY 87,2803 x4 H x50 18,155
= 9,077
= 2,724
Al 6,354
ot g 87,2803 x4H 15 5,237
= 2,618
& 786
Al 1,833
oA EEZ 13,200,000 & 14 13,200
= 6,600
& 1,980
Al 4,620
SISESE=S) 9,600,000 14! 9,600
= 4,800
& 1,440
Al 3,360
=0l 20,0003 *4F x5« 12 24,000
= 12,000
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z oK _ oK W% 0k no =
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o a1 & o7 &0 =% & 5
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S ARSI
Lol o2 - 25 SENHAMS ARSI/ ARSI LE)
o9l Lol o2 - =2 SHAAAIY X2 (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
=S 600
Al 1,400
202 04| 11,520 7,200 4,320
= 5,760
=S 1,728
Al 4,032
01 2L 11,520 7,200 4,320
OSgEE ALE 0] S
20,0002 x4 * 122 x 122 11,520
= 5,760
= 1,728
Al 4,032
301 22N = 4,000 11,000 A7,000
= 2,000
= 600
Al 1,400
14 0Bt 2a3 4,000 11,000 A7,000
OEAMINS S Y22z dHIEd
3,000,000& *14] 3,000
= 1,500
= 450
Al 1,050
OSE=s8 8|2 S us IAN =&
1,000,000 *14] 1,000
= 500
= 150
Al 350
307 212+01& 875,952 860,503 15,449
= 437,477
= 131,642
Al 306,833
0122 € /=4 237,735 238,739 A1,004
Oz - =5 SN AB2E2E S
4,000,000 * 14 4,000
= 2,000
= 600
Al 1,400
Og=2ozXNd MHLE d=dl S
233,735,000 x14] 233,735
= 116,867
= 35,060
Al 81,808
11 AMRISXAEES 638,217 621,764 16,453
Okol 92 - =5 SEXNE AEAE =8
638,217,000 x14] 638,217




2A: A=K
A Lol 9 -
o=, T A=

ool Lol o2 -

2|

[uind

0o o

KA (AFSI S X1/ AL S XLt
KEAE X2

W U
0T 0T
O o
[0 o

M- "

- SRU(BIH) - HRAY - BES

0l &y

dET
Ofl &tk

hoH

=

318,610
95,982
223,625

HH2SZHI(ABISXI D) (DIEHIIE

Mo

=

595, 111
206,695

27,967
360,449

598,679

A3,568

re
Ju
HO
02
=

SRR

464,603
206,695

27,967
229,941

465,001

A398

11,981

11,374

607

11,981

11,374

607

03 BRA(RIAH)22XHE S
2

16,6302 x2H*20A| 2+x 122 +150%

11,981

11,981

11,374

607

SEAHHIZt2IAL 2I24H]

Mo

=

246,840
86,820
8,682
151,338

240,340

6,500

101 eI24d|

SRR

=

208,040
71,670
7,167
129,203

208,040

OsE

0
[T

oAl

O
0 0 O o
A MM o
=

0
0z J

03 BRA(RIAHL) 222

ArellZrel Ab Q124H] R (EX)
= 114,840,000 * 14!

242

ry

10
1
s

24,000,002 % 14!

4,500, 0002 * 14!

W
g

el A Q1248 X1 (KA
18,000,000& * 14!
200,000 123
80,0002 x5~ 12
1,800,000 %14

M 40 W 1t

S S
o op

UL
S
[pa
oy

o = M 3

=

SRR

208,040
143,340
114,840
57,420
5,742
51,678
24,000
12,000
1,200
10,800
4,500
2,250
225
2,025
64,700
18,000
2,400
4,800
1,800

208,040




SA: MEISKID
M. HY2AZUI(AFZISXI (I1EHDIE
el el 2E (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ocXgsg 12,000,000 * 14! 12,000
o MZ A 130,000& 5% 122 7,800
S e 4,400,000& 14! 4,400
o HEZF I 13,500,000 & * 14| 13,500
M AFRE3S 38,800 32,300 6,500
= 15,150
& 1,515
Al 22,135
M SRHE(PINHS) 22X BE28€=2 S 38,800 32,300 6,500
OSEAZZIAL DEEEZ
3,000,000 14 3,000
= 1,500
& 150
Al 1,350
OSeAte2telAl AETHHEE =
1,500,000 *14] 1,500
= 750
& 75
Al 675
OSEAtd2tel AL 20192
7,800,000 * 14| 7,800
= 3,900
& 390
Al 3,510
OSeAtd2telAl SH2LEEZ
8,000,000 * 14 8,000
ax 4,000
& 400
Al 3,600
OSE A2 A Al =22 (XA
8,500,000 * 14 8,500
OSEAtellZel AL e X2
10,000,000 & 14 10,000
= 5,000
= 500
Al 4,500
Al 22l LRI NS (B EATHBI0IM 29) 2,400 2,400 0
= 1,200
Al 1,200
101 2124 d| 2,400 2,400 0
rax 1,200
Al 1,200
03 SRA(RINHS) 222+ 2,400 2,400 0
OSEAt2telAF S & AHHBI0IA
200,000 x12&*1H 2,400




SA: MEISKID
A HHAZHI(AIEISXIW)(DIEH/IIE
ool g E3y| (Sl &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
s 1,200
Al 1,200
SIS S0 2tCIAL 12| 203,382 210,887 AT7,505
= 118,675
=S 19,285
Al 65,422
101 21A4H| 175,062 182,567 AT,505
[ 96,019
= 15,603
Al 63,440
03 SR (RIH ) 222+ 175,062 182,567 AT,505
O2Zz=0&elAL AHEI(EX) 114,624
S 99, 134,000 * 14! 99,134
[ 79,307
= 12,887
Al 6,940
oA2te2f+E 15,490,000 * 14! 15,490
[ 12,392
= 2,014
Al 1,084
O2d2Z 022l Ak QIAHI(XHAI) 55,038
oIlESe 140, 0002 *424* 122} 6,720
oXRAL 80,0002 x4« 122 3,840
oHIHYINIZ
52,5002 x4 =122 2,520
odz2+g 7,156,000 * 14 7,1%
oFASAH| 130,000& x4« 123 6.240
oXgsd 200,000 ~4H 122 9,600
oAXt=E 110,000 x4 » 10! 4,400
cHESIMHI 10,664,000 x14] 10,664
A2 2RFE(ZUE)
81,2002 x4 x 122 3,898
O2e2g02cAt dtdt=
1,350,000 x4 5,400
= 4,320
< 702
Al 378
04 HSRESS 28,320 28,320 0
= 22,656
< 3,682
Al 1,982
4 R (RIHA)22N BEERES S 28,320 28,320 0
O2dzs02elAl =2 E2ES
150,000& x4« 123 7,200




SA: MEISKID
M. HY2AZUI(AFZISXI (I1EHDIE
ool g E3y| (Sl &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
= 5,760
& 936
Al 504
Of|ga3¢&2AI 2013
150,000& 4B 122 7,200
= 5,760
& 936
Al 504
Oflz=022AL NEEEREZ L MATH
=28z s 90,000 x4H*12& 4,320
= 3,456
& 562
Al 302
Oolz=022A EIEZH Y3
200,000 x4F 123 9,600
ax 7,680
& 1,248
Al 672
23l 130,508 133,678 A3,170
JlE234| 130,508 133,678 A3,170
201 Ler23| 76,807 79,617 A2,810
01 At 2elt] 74,215 77,025 22,810
Ogtt==2H| SHH A
31,504,000 14! 31,504
O2g=g WAL 1,500,000 14! 1,500
O=2altHl WAL 41,211,000 * 14 41,211
02 S==29| 2,592 2,59 0
03322 ¥ HMA SHAA
1,000,000 * 14! 1,000
ORIrEsty] S0 A
1,592,000 *14] 1,592
202 04dl 41,761 41,761
01 =LHO4b]| 41,761 41,761
A2 SEAL
41,761,000& * 14| 41,761
203 AR F=&l| 11,940 12,300 A360
01 J| 22 HRFAL| 6,000 6,000 0
O=XNus=2% 6,000,000& 6,000
M PA2IHRFAL 5,940 6,300 A360
OAISI = X1 10H(49Y)
(400,000&+(5,000&*19H ) )+ 12& 5,940
MHRES(AIS=SX W) (M=K /FHLHSKIH) 4,558,804 4,525,147 33,657
LHENHH K= 4,558,804 4,525,147 33,657
LHEHH K= 4,558,804 4,525,147 33,657
701 JIEISI HENEZ 4,498,804 4,465,147 33,657




2N:

Ar2l S X1t

M TNRES(MISXID) (ASISX/FHAHSKIA)
B9l LISHAXIS (cis) 22
5 SIE!
SA - B G(3) - NEAY - BES Ol bt e imE==
01 JIEt2I H =3 4,498,804 4,465,147 33,657
Od==20II2ELSH &3
4,498,804,000& » 14! 4,498,804
TR IISEES 60,000 60,000
01 JI13HES 60,000 60,000
OAgIEXDI2 BE3(MASFUXEHES!
32) 60,000,000 14! 60,000




